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GROUP-A

1.   Critically examine the normative approach to Pohitical theory. Discuss
its  problems.                                                                                                   10+5= 15
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2.   Globalization  has  ensured  the  `retreat  of State'.  Comment.            15
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3.   Rawls's  theory  of justice  is  both  contractual  and  distributive.
Examine.                                                                                                                  15

Rawis's enia a®i6 Q6\a  Q.©  6aQ qQo G`®G` 66}Q  I  aQisi  co  I

1

Candidate
must not
whte on

this margin.

I  P.T.O.



4.   Explicate the features of deliberative  democracy.  Show its  difference
with  participatory  democracy.                                                                      15
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5.   Define  power  and  critically  examine  Pareto's  circulation  of elite.
5+10-15
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6.   Hegemony  is  primarily  based  on  the  organization  of  consent.
Comment.                                                                                                                    15
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7.   Examine various theories of political obligation and their limitations.
15
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8.   Modern  liberalism  is  synonymous  with welfare  state.  Comment.
15
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9.   Analyze  Mahatma  Gandhi's  critique  of western  civilization  and
democracy.                                                                                                              15
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10.   Rousseau  is  an  inspiration  to  totalitarianism,  Comment.               15
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11.   The  history  of all  hitherto  existing  societies  is  the  history  of class
struggle. Comment.                                                                                              15
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12.   Nco-liberal  theory is  good  for  maintaining  political  economy  from  a
global  perspective.  Analyze.                                                                              15
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GROUP-B

13.   Tilak  rejected  the  method  of petitions  and  asserted  that  Swaraj  is
the  birthright  of Indians.Comment.                                               7+13=20
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14.   To  what  extent we  can  say  Quit  India  movement  is  the  most  un-
Gandhian  of all  Gandhian  movements.  Comment.                             20
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15.   Examine  the  issue  areas  between  center and  States.  Do  you  think
these  are  standing  in  the  way  of holding  together?  Give  reasons.

12+8=20
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16.   While  discussing  Prime  Minister's  relation with  President  of India,
do you  agree  with  the  view  that  an  active  President  is  against  the
C onstitution?                                                                                                 20
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17.   There  has  been  politicization  of caste  in  Indian  Politics.  Comment.
20
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18.   Women  movement  in  India  is  a  part  of global  feminist  movement.
Analyze.                                                                                                                    20
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